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Geometry Chapter 3 Pre-Test

1.) (2 pts each, 10 pts total) Use the following illustration to define the relationship between
each of the angles listed. Please include both the type of angles and whether they are

congruent supplemental or.ecomptementary——

Werkicdl =~
) | 41&48 Cbrfe_sr,von—iwai_ 7
z)\\w émﬂfdf«w /

pcu rs b) £5& £7

3. S A - 8 /5
a5 l8) cvs 25 A b - ~

,,D A HUM'(E Co v\ﬂrm‘t" /
Tl @ 24828

%) Z-?ﬁa 45&48 Liren Pai/
" lesiof su(ap LM%M%-&I

2.) (10 pts) Find the value of x and y. R
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3.) (2.5 pts each, 10 pts‘total) Fnd the angle measure of each of the indicat€dangles.
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4.) (5 pts each, 10 pts total) Use the properties of triangles to find the missing angles and/or

variables. |80-92 = 88°
a) Find “?” 7 + 88+ 7| =(80 9z°
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5.) (5 pts each, 15 pts total) Answer each of the following using your understanding of
polygons.

a) What is the total interior angle measure of a 15-sided regular polygon? What is
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b) Find x.

q\+125t92+ 3x -5 +9x-8 = 50




c) Find x.

6.) (5 pts each, 10 pts total) Find the slope of each of the following sets of ordered pairs.
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b) (8,-2) (2, 10)

7.) (5 pts)‘Wrmor the line with the given slope that contains the given point.
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8.) (5 pts each, 10 pts total) Write the equation for the line containing the given points in
baoth-peimt=stope-and slope-intercept forms. Graph each line.
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9.) (5 pts each, 10 pts total) Graph each line.

a) 2x —4y =12




b) y=%3x—2
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10.)  (5pts each, 10 pts total) Write the specified equation.

a) Write an equation for the line perpendicular to the line y @ + 5 that contains
)
the point - -
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b) Write an equation for the line parallel to the line 12x + 3y = 6 that contains the
point (1,-2).
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